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𝑑 = 𝑠 ×  𝑡



𝑑 = 𝑠 ×  𝑡

𝑑 ÷ 𝑡 = 𝑠 ×  𝑡 ÷ 𝑡

𝑑

𝑡
= 𝑠.

𝑠 =  
𝑑

𝑡
.

𝑠 =  
135

2.5
= 54.

𝑦 =  
𝑥

4
− 3.

𝑦 + 3 =  𝑥
4

− 3 + 3

𝑦 + 3 =  
𝑥

4

4 × (𝑦 + 3) =  
𝑥
4

 ×  4

4𝑦 + 12 =  𝑥.

• 

• 

• 

𝑥 =  3𝑦2 + 4.



𝑥 − 4 =  3𝑦2 + 4 − 4.

𝑥 − 4 =  3𝑦2.

(𝑥 − 4) ÷ 3 =  3𝑦2 ÷ 3,

(𝑥 − 4)

3
= 𝑦2.

√
𝑥−4

3
= √𝑦2

√
𝑥 − 4

3
= 𝑦.

𝑥
 𝑦 = 𝑥 + 1 𝑦 = 𝑥 − 4 𝑦 = 1 − 𝑥 𝑦 = 2𝑥

𝑦 =
1

2
𝑥 𝑦 =

𝑥

5
𝑦 =

2𝑥

3
𝑦 = 2 − 𝑥

𝑥
 𝑦 = 2𝑥 + 1 𝑦 = 3𝑥 − 1 𝑦 = 5𝑥 + 8 𝑦 = 1 − 2𝑥

𝑦 =
𝑥+1

2
𝑦 =

𝑥−2

4
𝑦 =

𝑥

2
+ 5 𝑦 =

𝑥

3
− 1

𝑦 =
2𝑥+5

3
𝑦 =

3𝑥−2

8
𝑦 =

2𝑥

3
+ 3 𝑦 =

3𝑥

5
+ 1

𝑥 
 𝑦 = 𝑥2 + 5 𝑦 = 2𝑥2 𝑦 = 2𝑥2 + 1 𝑦 = 3𝑥2 − 4

𝑦 = √𝑥 𝑦 = √𝑥 + 2 𝑦 = √2𝑥 + 4 𝑦 = 2√𝑥 + 1

 𝐴 = 𝑙𝑤 𝑤 𝑙 = 10

 𝐴 =
(𝑎+𝑏)ℎ

2
𝑏 𝐴 = 10, ℎ = 5, 𝑎 = 1

 𝐷 = 𝑠𝑡 𝑡 𝐷 = 40, 𝑡 = 11

 2𝜋𝑟

 𝑉 = 𝑙3 𝑙 

 𝑙 = 2𝑡2 + 11𝑎. 𝑡  𝑙 = 121, 𝑎 = −2

 𝑥2 + 𝑦2 =   1 𝑥 𝑦 =  −0.5 
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μ

1 km =  1000 m.

1 km =  1000 m.

                                                            ×  35.54                                                                          ×  35.54

35 .53 km =  35,530 m.



1 eV =  1.6 ×  10−19 J.

𝐸 = 𝑚𝑐2

𝐸 ÷ 𝑐2 = 𝑚𝑐2 ÷ 𝑐2

𝐸

𝑐2
= 𝑚.



1.6 × 10−19 J = 1 eV .

1.6 × 10−19 × 𝑎 =  3.2 × 10−19 ,

1.6 × 10−19 J = 1 eV .

                                                                  ×  2                                                                             ×  2

3.2 × 10−19 J =  2 eV.
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H total 1-
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r fluid

æ

è
çç

ö

ø
÷÷ = Habove

Habove

robject
r fluid

H total
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5 + 5  + 5 + 5 =  20,

5 + 5  + 5 + 5 =  4 ×  5 = 20.





24 = 16

log2(16) = 4

 





log2(16) = 𝑥.

2𝑥 = 16

log2(16) = 4.

 
 
 





e = 2.71828…

log𝑒(𝑒) = 1.

log2.71828(2.71828) = 1.

log𝑒(7.389) = ln(7.389) = 2.
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C6
12

C6
12

https://www.nndc.bnl.gov/chart/


moles =  
mass of substance

molar mass



moles =  
mass of substance

molar mass
=  

2000

55.845
= 35.813

1 𝑁𝐴 =  6.02 × 1023

                                                       ×  35.813                                                                                 ×  35.813

35.813 𝑁𝐴 =  2.156 × 1025.

 

 



 U92
238
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16

 Ac89
227
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X → Y +  He + Energy.2
4

Z−2
A−4

Z
A







𝑋 → 𝑌 + 𝑒− + 𝜈𝑒̅𝑍+1
𝐴

𝑍
𝐴

𝑋 → 𝑌 + 𝑒+ + 𝜈𝑒𝑍−1
𝐴

𝑍
𝐴

𝑋𝑍
𝐴 ∗ → 𝑋 + 𝛾𝑍

𝐴





𝑋𝑍
𝐴 → 𝑌 +  𝑍 + (𝑁 − (𝑁1 + 𝑁2))  ×  𝑛0

1
𝑍2
𝐴2

𝑍1
𝐴1

Zr40
102 Ce58

148

Cf98
252 → Zr +  Ce + 2 ×  𝑛0

1
58

148
40

102

 

 



𝑁 = 𝑁0𝑒−𝜆𝑡

λ

 λ λ λ λ

 

 

 

λ

 

Oftne 

𝑡1
2

=  
ln (2)

𝜆



 

  





 

 λ, λ

λ

 
λ

 

 

 



https://www.nndc.bnl.gov/chart/
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http://www.thebrilliantclub.org/
https://portal.thebrilliantclub.org/sign-in
mailto:schools@thebrilliantclub.org









